Math Section

------------------------------------------------------------------------------------------------------------

Q1:

A grocer has 400 pounds of coffee in stock, 20 percent of which is decaffeinated.  If the grocer buys another 100 pounds of coffee of which 60 percent is decaffeinated, what percent, by weight, of the grocer’s stock of coffee is decaffeinated?

A. 28%

B. 30%

C. 32%

D. 34%

E. 40%

Answer: 

------------------------------------------------------------------------------------------------------------

Q2:

If 2 different representatives are to be selected at random from a group of 10 employees and if p is the probability that both representatives selected will be women, is p > 
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1

?

(1)
  More than 
[image: image2.wmf]2

1

 of the 10 employees are women.

(2)
  The probability that both representatives selected will be men is less than 
[image: image3.wmf]10

1

.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q3:

If the population of a certain country is 120,256,000 and its land area is 2,998,000 square kilometers, then the population per square kilometer is closest to which of the following?

A. 4

B. 6

C. 20

D. 40

E. 60

Answer: 

------------------------------------------------------------------------------------------------------------

Q4:
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A. 30(105)

B. [3(10)]6
C. 305
D. 30(106)

E. 3(1012)

Answer: 

------------------------------------------------------------------------------------------------------------

Q5:

If vmt ≠ 0, is v2m3t-4 > 0?

(1)
  m > v2

(2)
  m > t-4

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q6:

         B                         C
                                                         xº
                                                  yº                             zº  
                                             A                                           D
In the figure shown, line segment AD is parallel to line segment BC.  What is the value of x?

(1)
  y = 50

(2)
  z = 40

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q7:

A certain university will select 1 of 7 candidates eligible to fill a position in the mathematics department and 2 of 10 candidates eligible to fill 2 identical positions in the computer science department.  If none of the candidates is eligible for a position in both departments, how many different sets of 3 candidates are there to fill the 3 positions?

A. 42

B. 70

C. 140

D. 165

E. 315

Answer: 

------------------------------------------------------------------------------------------------------------

Q8:

The points R, T, and U lie on a circle that has radius 4.  If the length of arc RTU is 
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4

p

, what is the length of line segment RU?

A. 
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B. 
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C. 3

D. 4

E. 6

Answer: 

------------------------------------------------------------------------------------------------------------

Q9:

For all integers n, the function f is defined by f (n) = an, where a is a constant.  What is the value of f (1)?

(1)
  f (2) = 100

(2)
  f (3) = -1,000

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q10:

What is the value of (x - y)4?

(1)
  The product of x and y is 7.

(2)
  x and y are integers.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q11:

Mary persuaded n friends to donate $500 each to her election campaign, and then each of these n friends persuaded n more people to donate $500 each to Mary’s campaign.  If no one donated more than once and if there were no other donations, what was the value of n?

(1)
  The first n people donated 
[image: image8.wmf]16
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 of the total amount donated.

(2)
  The total amount donated was $120,000.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q12:

When n liters of fuel was added to a tank that was already 
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 full, the tank was filled to 
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 of its capacity.  In terms of n, what is the capacity of the tank, in liters?

A. 
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10

 n
B. 
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 n
C. 
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 n
D. 
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 n
E. 
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 n
Answer: 

------------------------------------------------------------------------------------------------------------

Q13:

If n is a positive integer, what is the remainder when 38n+3 + 2 is divided by 5?

A. 0

B. 1

C. 2

D. 3

E. 4

Answer: 

------------------------------------------------------------------------------------------------------------

Q14:

Of all the students in a certain dormitory, 
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 are first-year students and the rest are second-year students.  If  
[image: image17.wmf]5

4

 of the first-year students have not declared a major and if the fraction of second-year students who have declared a major is 3 times the fraction of first-year students who have declared a major, what fraction of all the students in the dormitory are second-year students who have not declared a major?

A. 
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B. 
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C. 
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D. 
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E. 
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Answer: 

------------------------------------------------------------------------------------------------------------

Q15:

If p is the product of the integers from 1 to 30, inclusive, what is the greatest integer k for which 3k is a factor of p?

A. 10

B. 12

C. 14

D. 16

E. 18

Answer: 

------------------------------------------------------------------------------------------------------------

Q16:

If x and y are positive, is x3 > y?

(1)
  
[image: image23.wmf]x

 > y
(2)
  x > y
A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q17:

If x, y, and k are positive numbers such that (
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x

x
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)(10) + (
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x

y
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)(20) = k and if x < y, which of the following could be the value of k?

A. 10

B. 12

C. 15

D. 18

E. 30

Answer: 

------------------------------------------------------------------------------------------------------------

Q18:

What is the value of the integer k?

(1)
  k + 3 > 0

(2)
  k4 
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 0

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q19:

Each of the 30 boxes in a certain shipment weighs either 10 pounds or 20 pounds, and average (arithmetic mean) weight of the boxes in the shipment is 18 pounds.  If the average weight of the boxes in the shipment is to be reduced to 14 pounds by removing some of the 20-pound boxes, how many 20-pound boxes must be removed?

A. 4

B. 6

C. 10

D. 20

E. 24

Answer: 

------------------------------------------------------------------------------------------------------------

Q20:

Tom, Jane, and Sue each purchased a new house.  The average (arithmetic mean) price of the three houses was $120,000.  What was the median price of the three houses?

(1)
  The price of Tom’s house was $110,000.

(2)
  The price of Jane’s house was $120,000.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q21:

The results of a certain experiment included 6 data values that were all multiples of the same number c, namely, c, 8c, 2c, 5c, 4c, and 4c.  Was the average (arithmetic mean) of the 6 data values greater than 8?

(1)
  c < 4

(2)
  c > 2

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q22:





What is the value of x + y in the figure above?

(1)
  w = 95

(2)
  z  = 125

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q23:

The age of the Earth is approximately 1.3 
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 1017 seconds, and one year is approximately 3.2 
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 107 seconds.  Which of the following is closest to the age of the Earth in years?

A. 2.5 
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 109
B. 4.1 
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 109
C. 1.9 
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 1010
D. 2.5 
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 1011
E. 4.1 
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 1011
Answer: 
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Q24:

Four staff members at a certain company worked on a project.  The amounts of time that the four staff members worked on the project were in the ratio 2 to 3 to 5 to 6.  If one of the four staff members worked on the project for 30 hours, which of the following CANNOT be the total number of hours that the four staff members worked on the project?

A.  80

B.  96

C.  160

D.  192

E.  240

Answer: 

------------------------------------------------------------------------------------------------------------

Q25:

If the sequence x1, x2, x3, …, xn, … is such that x1  = 3 and xn+1 = 2xn – 1 for n ≥ 1, then x20 – x19 =

A. 219
B. 220
C. 221
D. 220 - 1

E. 221 - 1

Answer: 

------------------------------------------------------------------------------------------------------------

Q26:

If the units digit of the three-digit positive integer k is nonzero, what is the tens digit of k?

(1)
  The tens digit of k + 9 is 3.

(2)
  The tens digit of k + 4 is 2.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q27:

2 + 2 
[image: image34.wmf]´

 3 + 3 
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 4 =

A.   20

B.  24

C.  40

D.  60

E.  96

Answer: 

------------------------------------------------------------------------------------------------------------

Q28:

Three printing presses, R, S, and T, working together at their respective constant rates, can do a certain printing job in 4 hours.  S and T, working together at their respective constant rates, can do the same job in 5 hours.  How many hours would it take R, working alone at its constant rate, to do the same job?

A.  8

B. 10

C. 12

D. 15

E. 20

Answer: 

------------------------------------------------------------------------------------------------------------

Q29:

If y is the smallest positive integer such that 3,150 multiplied by y is the square of an integer, then y must be

A. 2

B. 5

C. 6

D. 7

E. 14

Answer: 

------------------------------------------------------------------------------------------------------------

Q30:

The total cost of an office dinner was shared equally by k of the n employees who attended the dinner.  What was the total cost of the dinner?

(1)
  Each of the k employees who shared the cost of the dinner paid $19.

(2)
If the total cost of the dinner had been shared equally by k + 1 of the n employees who attended the dinner, each of the k + 1 employees would have paid $18.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q31:

Three of the four vertices of a rectangle in the xy-coordinate plane are (-3, 10), (2, 10), and (2, 1).  What is the fourth vertex?

A. (-3, 1)

B. (-3, 2)

C. (-2, 10)

D. (2, -3)

E. (3, 10)

Answer: 

------------------------------------------------------------------------------------------------------------

Q32:

	r
	s
	t

	u
	v
	w

	x
	y
	z


Each of the letters in the table above represents one of the numbers 1, 2, or 3, and each of these numbers occurs exactly once in each row and exactly once in each column.  What is the value of r?

(1)
  v + z = 6

(2)
  s + t + u + x = 6
A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q33:

At a certain school, the ratio of the number of second graders to the number of fourth graders is 8 to 5, and the ratio of the number of first graders to the number of second graders is 3 to 4.  If the ratio of the number of third graders to the number of fourth graders is 3 to 2, what is the ratio of the number of first graders to the number of third graders?

A. 16 to 15

B. 9 to 5

C. 5 to 16

D. 5 to 4

E. 4 to 5

Answer: 

------------------------------------------------------------------------------------------------------------

Q34:

In the xy-plane, what is the slope of line l?

(1)
  Line l dose not intersect the line with equation y = 1 - x.

(2)
  Line l intersects the line with equation y = x – 1.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q35:

Guy’s net income equals his gross income minus his deductions.  By what percent did Guy’s net income change on January 1, 1989, when both his gross income and his deductions increased?

(1)
  Guy’s gross income increased by 4 percent on January 1, 1989.

(2)
  Guy’s deductions increased by 15 percent on January 1, 1989.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q36:


          ׀      ׀      ׀      ׀      ׀      ׀      ׀      ׀      ׀      ׀      ׀      ׀      ׀      ׀      ׀      ׀      ׀      ׀      ׀
x

        -9  -8  -7  -6  -5  -4  -3  -2  -1   0    1   2    3   4    5   6    7   8    9

On the number line, the shaded interval is the graph of which of the following inequalities?

A. 
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 ≤ 4

B. 
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 ≤ 8

C. 
[image: image38.wmf]2

-

x

 ≤ 4

D. 
[image: image39.wmf]2

-

x

 ≤ 6

E. 
[image: image40.wmf]2

+

x

 ≤ 6

Answer: 

------------------------------------------------------------------------------------------------------------

Q37:

Of the 500 business people surveyed, 78 percent said that they use their laptop computers at home, 65 percent said that they use them in hotels, and 52 percent said that they use them both at home and in hotels.  How many of the business people surveyed said that they do not use their laptop computers either at home or in hotels?

A. 45

B. 55

C. 65

D. 95

E. 130

Answer: 

------------------------------------------------------------------------------------------------------------

------------------------------------------------------------------------------------------------------------

Answers:

Note:

------------------------------------------------------------------------------------------------------------

Q2:

If 2 different representatives are to be selected at random from a group of 10 employees and if p is the probability that both representatives selected will be women, is p > 
[image: image41.wmf]2

1

?

(1)
  More than 
[image: image42.wmf]2

1

 of the 10 employees are women.

(2)
  The probability that both representatives selected will be men is less than 
[image: image43.wmf]10

1

.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: E

Note:

Step 1:  Use Trial and Error Method to check Statement 1!  

Pick up the case:  6 women in the group. → p = 
[image: image44.wmf]10
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 EMBED Equation.3 [image: image45.wmf]´



 EMBED Equation.3 [image: image46.wmf]9
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 = 
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 < 
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; 

Pick up the case:  10 women in the group. → p = 1 > 
[image: image49.wmf]2
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Result:  Statement 1 is false!

Step 2:  Use the same method to check Statement 2, but the empirical method and my fifth sense is to check the combination of S1 and S2 first.

When 6 women → p = 
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 < 
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; for men → 
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 EMBED Equation.3 [image: image54.wmf]9
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 = 
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 > 
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 → So drop this case!

When 7 women → p = 
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 = 
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[image: image61.wmf]2

1

; for men → 
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 = 
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 < 
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 → So this case is GOOD, and p < 
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!

When 8 women → p = 
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 → So this case is GOOD, but p > 
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!

Or use the extreme case:  when 10 women → p = 1 > 
[image: image79.wmf]2

1

 → for men 0 < 
[image: image80.wmf]10
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 → So this case is GOOD, but p > 
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!
Step 3:  Draw the conclusion:  S1 + S2 is wrong!  And S2 is also wrong as tested in the process of Step 2!  The answer should be E!

------------------------------------------------------------------------------------------------------------

Q17:

If x, y, and k are positive numbers such that (
[image: image82.wmf]y

x

x

+

)(10) + (
[image: image83.wmf]y

x

y

+

)(20) = k and if x < y, which of the following could be the value of k?

A. 10

B. 12

C. 15

D. 18

E. 30

Answer: D

Note:  In order to get the answer for this question, examinees must use the method of Trial and Error.

First, 
[image: image84.wmf]y

x

y

+

10

 = k – 10 → Then, try k value from Answer A to E.

A. 10 → 
[image: image85.wmf]y

x

y

+

10

 = 0 → y = 0 → Because from the Term of both x and y are positive → y = 0, Wrong!

B. 12 → 
[image: image86.wmf]y

x

y

+

10

 = 2 → x = 4y → Because from the Term of x < y, x – y = 3y > 0 → x > y, Wrong!

C. 15 → 
[image: image87.wmf]y

x

y

+

10

 = 5 → x = y → Because from the Term of x < y → x = y, Wrong!

D. 18 → 
[image: image88.wmf]y

x

y

+

10

 = 8 → 4x = y → Because from the Term of x < y, y – x = 3x > 0 → x < y, Correct!
E. 30 → 
[image: image89.wmf]y

x
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+

10

 = 20 → 2x = -y → Because from the Term of both x and y are positive → Wrong!

------------------------------------------------------------------------------------------------------------

Q20:

Tom, Jane, and Sue each purchased a new house.  The average (arithmetic mean) price of the three houses was $120,000.  What was the median price of the three houses?

(1)
  The price of Tom’s house was $110,000.

(2)
  The price of Jane’s house was $120,000.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: B

Note:

This question is definitely a well-planned trap!  Since it is the 20th question in the 37-question Math section and difficult levels usually drop because of the good performance for the first half-section of difficult questions, it is especially lethal to the tired GMATers with dwindled alert.  The answer superficially appeared to be C but indeed it should be B.  This question is not very difficult and but very tricky.  From my point of view, if the highly difficult questions appeared earlier in the Math section is the frontal attack to GMATers, then the above question is a hideous attack stabbing GMATers’ back.

------------------------------------------------------------------------------------------------------------
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